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4068,7 — (778,83+980,795) ; 675+ 0,037 + 7,63 27,3:875 594,09%9,83

594,09x9,83 =5839,9047(2points)
0.2y 27,3:8,75 =3,12 (2points)
675 + 0,037 + 7,63 =682,667(2points)

(778,83+980,795) = 1759,625 et 4068,71 1759,625 = 2309,075 (2points
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3/5 + 2/3= 3x3/5x3 + 2x5/3x5=9+10/15 =19/15
312 - 1/2=3-1/2=2/2

19/15%2/2 =38/30 = 19/15(1point)

8/9 : 5/4 = 8/9x4/5 = 32/45(1point)

12,02 ;1,202 ; 120,2 ;0,102 ; 0,11
0,102 <0,11<1,202<12,02 <120,2
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K =ix100/ti= 15000%100/8 = 187500DH

72,8km 357,46m =7315,746dam
429,78q 530,82kg=43,50882t
1,054ha 1825,9m?*= 123,659 a
3,7m® 4328,5dI=4132,85 dm®
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S = (b+B)xh/2 donc b+B =2 x S/h = 2x1800/48=3600/48= 75m
=(04)2w HOY T2
L 3m 4des g 5m 4l 5 10mM Mgk cBbbical) ¢ 5 gia JS& o e
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Si=2x(a+b)xh=2x15x3=90m.
;=S +2xaxb=90+2x10x5=90+ 100 = 190m>.
V=axbxc=10x 5 x 3 =150m* = 1500001.
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:(02):€xABCD g3u&aY) o) g (ol 2.3
ABC=60°3 AC=BD=2cmys AB=CD=4cm
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S =Rx etRxD0/2=60/2=30
S =30 x30x 3,14 = 2826m 2.

198 29,8l A
2826 x15 = 42390 fleurs.
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